
17
8.

89
” 

[4
54

4]
18

0”
 [4

57
2]

230.21” [5847.5]

18
2.

34
” 

[4
63

1.
5]

LATERAL  VIEW 2

A

A

A

A

16
8.

18
” 

[4
27

2]

2"X9.842"X0.080"
ALUM BEAM
6063 T5

5.91"X5.91"X0.090"
ALUM POST 6063 T5

LATERAL  VIEW 1

226.77” [5760]

212.59” [27*200=5400]

227.87” [5788]

216” [5488] 11
7.

83
”

7.066” [179.5]7.1” [180.5]

10
8”

 [2
99

3]

12
0.

19
”

 [3
05

3]

 [2
74

3]

TOP VIEW

pergola motorpower supply AC110V, 3AMPoutlet

227.87" [5788]
180" [4572]

11
7.

83
" [

29
93

]

3D VIEW

DETAIL-A

DETAIL-A

12
1.

65
”

 [3
09

0]

Highest Point

Wedge Anchor need to be at
least 6" from the edge of
concrete padding or footing.



SECTION A-A
LOUVER BEAM REINF. DETAIL

ALUM. BEAM 2"X9.842"X0.080"

M8 SS304 SCREW

M8 SS304 SCREW

M8 SS304 SCREW

M8 SS304 SCREW

ALUM. FLAT BAR 5/8"

POST CAP

CORNER CONNECTOR

ALUM. BEAMALUM. BEAM

[8] M8 SS304 SCREW
SCREW [4] PER BEAM SIDE

ALUM. POST

ALUM. GUTTERALUM. GUTTER

BEAM-POST CONNECTION



ALUM POST
5.91"X5.91"X0.090"

(4)1/2" HILTI HIT HY200+ HAS R 
304/316 ANCHOR WITH 6"

 MIN EMBED INTO CONCRETE FOOTING 
WITH 6.5" MIN EDGE DISTANCE

7-
3/

32
"

8-
1/

8"

7-3/32"

5-29/32"

8-1/8"

[16] 5/16" SS304 SELF  DRILLING SCREWS 
[4] PER POST SIDE

19/32"

Ø 9/16"

8.
07

"



Gutter Beam Post

8.661 [220]

1.
77

1 
[4

5]

8.661 [220]

1.
77

1 
[4

5]

Louver

9.
84

2 
 [2

50
]

2.559  [65]

1.968  [50]

Louver Footing Plate

4.527 [115]

2.
55

9 
 [6

5]

EXTRUSIONS

ALL EXTRUSIONS ALUMINUM 6063 T5

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 2

7 light strips in total

5.91  [150]

5.91  [150]

7-3/32"

8-1/8"

7-3/32"5-
21

/3
2" 8-1/8"

19/32" Ø 9/16"


